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1. ZEEBE (WF 1085-2002 /K-F RALHERLTE) HIZER, BEXS 70 BEAEN
0.5. 1. 2. 5 A1 10mm/m, #H%A 100—1000mm 7KF AT R E;
2. ZMEE R EEIRERHERE . REUURMEIRERAESE WED |
LHPHECPATH. B 45 ARG
3. MYEHRERWERE: KA EE 500mm SR E K Fah TR E (i
BUEREA KT 0.015mm), THEAFH /3 BEE 1R 7, /R{E 1R % <£0.015 mm/m;
=, BEFER AR
1. K REHERH%: 100—1000mm;
2. EEGERIERS
(1) X REKAEE: 600mm;
(2) P RAFHEIEE: <<0.02mm;
(3) JKTPRITE#EfMAEE: £20mm/m;
(4) RGURNERZE: <£0.015 mm/m;
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3. THFH-FATH
(1 TAEmKE: 800mm;


http://www.bzfxw.com/soft/sort024/sort046/4692082.html

(2) LAFMm-FHEE: <0.05mm;

(3) PILAEHIMFATE: <0.1mm:;
4. LH 450 AR

(1) TAEMSZ: 500mm;

(2) TAFM-FimEE: <0.05mm:;

(3) 450 R MMM Z: £24
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5. fNEN: 1Im:MPE: +0.2mm;
6. I E: 20°C+8C;




